RB TUBE CUTTER MODEL N30P/N30S 2017.5.26

Z
o

Code no PARTS NAME REMARKS

Q
2

RBW2 [Body A

RBW3 [Body B

RBWQ |Cutter wheel holder

RBWS5 [Carriage thread

RBWS6 |Roller collar

RBW?7 [Side protector

RBWA |Grip with Grip rubber

RBWB |Ring

OIO|N[O|O|BD]WIN]|F]-

RBWD |Washer

RBWC [Cutter wheel pin

424284 [Cutter wheel for stainless steel pipe RB36:Assembled with No.12 bearing

424292 |Cutter wheel for (lined) copper pipe RB38:Assembled with No.12 bearing

KM22 |Bearing 62577 (5x16x5) 2pcs. For cutter wheel

RBWH [Roller pin

W555 |Truss screw (M5x8) Black Old no. RBWJ

RBWK [Conical spring washer (5) Black

KM160 |Logo Sticker (REX) not for sale

W042 |Socket head cap screw (M4x10)

WYO04 [E ring (4)

AN RN RN NN R R

WYO06 [E ring (6)

()]
m
—

- Body A with logo sticker 1 W/No0.16 logo sticker




RB TUBE CUTTER MODEL N42P/N42S 2017.5.26

No. [Code no PARTS NAME Q'ty REMARKS
1| RBX2 |Body A 1
2| RBX3 |Body B 1
3| RBXQ |Cutter wheel holder 1
4| RBX5 |Carriage thread 1
5] RBW6 |Roller collar 4 |0ld no. RBX6
6] RBW?7 |Side protector 1 |0Old no. RBX7
7] RBWA |Grip with Grip rubber 1 |Old no. RBXA
8| RBWB |Ring 1 |Old no. RBXB
9] RBWD |Washer 2 ]0ld no. RBXC
10| KM160 |Logo Sticker (REX) 1 [not for sale
11| RBWC |Cutter wheel pin 1
12-a| 424284 |Cutter wheel for stainless steel pipe 1 [RB36:Assembled with No.13 bearing
12-b| 424292 |Cutter wheel for (lined) copper pipe 1 [RB38A:ssembled with No.13 bearing
13| KM22 |Bearing 625227 (56x16x5) 8 |2Pcs. For cutter wheel
14| RBWH |Roller pin 2
15| W555 |Truss screw (M5x8) Black 1 ]Old no. RBWJ
16| RBWK |Conical spring washer (5) Black 1
17| W042 |Socket head cap screw (M4x10) 2
18 WYO04 |E ring (4) 1
19 WYO06 |E ring (6) 1
20 - Body A with logo sticker 1 SET|W/No.10 logo sticker




RB TUBE CUTTER MODEL N67P/N67S/67PE

2017.12.12

.|Code no

PARTS NAME

Q' ty

REMARKS

RBZ2

Body

W/ No.18 logo sticker

RBZ3

Cover

RBZQ

Cutter wheel holder

RBZ5

Carriage thread

RBZ6

Half nut pin

RBZ7

Side protector

RBZ8

Wheel holder plate

RBZB

Grip with Grip rubber

424284

Cutter wheel for stainless steel pipe

RB36:Assembled with No.20 bearing

424292

Cutter wheel for lined copper pipe

RB37:Assembled with No.20 bearing

424245

Cutter wheel for PE

RBZC:Assembled with No.20 bearing

RBZD

Spacer for PE

Only for PE cutter

RBZE

Roller pin

RBZF

Roller collar

RBZG

Half nut

RBZH

Return spring

RBZJ

Lock spring

RBZK

C type retaining ring uniform section (6)

RBZL

Spring pin (5x32)

KM180

Logo Sticker (REX)

not for sale

RBWC

Cutter wheel pin

LN RN Q) [ELY) ELN JEE ) LN g o)) [N Ny PR\ JEL ) PELNY JEENY PEEN) JUENG PEE\) LNy UL\ JHE Ny JEENg JEEN

KM22

Bearing 62527 (5x16x%5)

2Pcs. For cutter wheel

W555

Truss screw (M5x8) Black

Old no. RBWJ

RBWK

Conical spring washer (5) Black

WY04

E ring (4)

WQO06

Steel ball (¢6)

Body with logo sticker

W/No.18 logo sticker




	RB-N30-42-67_pl
	貿-RB-N30_pl-non-p
	貿-RB-N42_pl-non-p
	貿-RB-N67_pl-non-p

	貿-RB-N67_pl-non-p改



